Solving Trig Equations with Double and Half Angles Examples
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Solve over the interval [0, 2n).

2.Cosx + 2v$?nx-¢03x = O

2 cesSx (‘f + Sinx) =0

2cosx+sin2x=0

2 coStx=c 1+ Sinx=0
CoSx=0 sinx=—1_
x= T 27T
2. ) 2

Solve over the interval [0, 2x).
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CoSX— Stnsc—7F coSx =17
CosPx~(1-Eo8D>)—Tcos = 2

Cos?x —d +cos"x —Fcosx = 2

CcOS2x — /Ccosx =3

2 cost —Fcosx —4=co
Coosx+ | ) (@osx -4 ) =©O
cosx=t &4 N
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Solving Trig Equations with Double and Half Angles Examples

Solve over the interval [0, 2r).

o 3) Z(inE} sing =0
<7_F'9 =(5in®)*

Zil-( l—-<°$°> (Sm e)

2 - 2cws® = |-cos*o
Cos?@-2¢cos® + 1 =0
(ces© -4 Eese-) =0
Cos®= 4

o= O°

Solve over the interval [0, 2x).

0 4) ’ron%: SinX

CosPx—coSx = ©
Cosx.(éosx —-)=0
< =0 coSxX= |
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